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Comprehension:
Read the following text and then answer the questions that follow based on
the text.
Masdar City - a positive step?
Megaprojects are extremely large investment projects, which are designed to encourage
economic growth and bring new benefits to cities. Although megaprojects vary in terms
of size and cost, they are all, by definition, expensive, public projects that attract a
high level of interest and media coverage. Projects range from motorways, airports,
stations, tunnels, bridges, etc. to entire city complexes.

The concept of a megaproject is always based on the benefits it brings to a community.
However, many megaprojects have been criticised because of their negative effects on a
community or the environment. This essay will look at these issues with regard to
Masdar City, a megaproject in Abu Dhabi.

Masdar City, which began its development in 2006 CE, will be the world’s first carbon-
neutral, zero- waste artificially-created city. Covering an area of six square kilometres,
when it is completed in 2025 CE, it is expected to house more than 40,000 residents,
50,000 commuters, and 1,500 businesses involved in mainly environmentally-friendly
products.

The city will run entirely on renewable energy sources. It is built on an advanced energy

grid which monitors exactly how much electricity is being used by every outlet in the

complex.

Furthermore, in order to reduce its carbon footprint, Masdar City will be a car-free zone,
designed to be pedestrian and cycle-friendly. Electric, driverless cars will operate as
public transport vehicles, and the city will be connected to other locations by a network
of roads and railways.

Energy will be provided by solar power and wind farms, and there are also plans to build
the world’s largest hydrogen plant. A desalination plant will be used to provide the city’s
water, with 80% of water used being recycled. Biological waste will be used as an
energy source too, and industrial waste will be recycled.

The current residents of Masdar City are all students at the Masdar Institute of Science
and Technology, a university whose students are fully committed to finding solutions to
the world’s energy problems.

While the project has the support of many global, environmental and conservation
organisations, there is some criticism of it. It is felt that, instead of building an artificial
sustainable city, sustainability should be made a priority of existing cities.

In conclusion, the benefits of Masdar City for the community and the environment
greatly outweigh any disadvantages. If the aims of the developers are realised, Masdar
City will be a blueprint for future urban planning that will inspire similar megaprojects in
other countries.
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Question Number One:
A.
1. What definition does the text give for "Megaprojects”? ¢"adMoc &)Lino" a2 9o o
2. Megaprojects vary in terms of size and cost. Write down two examples mentioned in
the text of such projects (Megaprojects).
0dd Jio) paidl (59 GuysSie Hullo Sl .aslSily pxzdl G o wlixg a8Mosll g5 Lol
(a8Mos)!l &,Linadl (sl) &, Linoll
3. According to the text, what is Masdar City? $)dao Aydo b bo «padl o>
4. How do engineers of Masdar City ensure a low carbon footprint during and after its
construction. Write down three things that will reduce carbon footprint in the city.
JMs Qaazio (Ug)S wlesl SI) Ug,S dowas Basixi o s las Aude] Ugwaipell Sk S
Aol (88 Ve Sl Sleul/ugs STl douay o LAaREw sbowl &M CaS| .sbudl asig
5. What information in the text tells you that driving personal cars won't be allowed
inside Masdar City? )
U o o ezl ol)lewdl @8lgw Ul s el padl 8 839>9.0d] Wlogleodl Lo
¢ a0 dyio J>Is
6. One of the aims of Masdar City is to leading research and education into sustainable
technology. What will they do to achieve this aim? o
13 .ol aswodl Li>glgiSil (08 puleily cuxdl adoc 85038 98 ;oo diyio Bladl >l
Tl 13 Ugds=) (sui> Uglesw
7. Find a word in the text that means the same as “the state of being able to
continue forever, or for a very longtime”.
8i8d 9l (MW iVl e 1o UeSy Ul AWL" sl o Lussr usi adl o9 aolS o>
Saligb Quio)
8. What does the underlined word “they” in the first paragraph refer to?
SsdoVl 8,80l (9 "they" las Lpsss sl @odSJl g [3lo sle
9. How will Masdar City get its fresh water?  Soill clodl (sde jaan ayio Juaxiw WS
10. There are some people who oppose creating Masdar City. What is their point of
view? Cpdy b 4p>g9 B bo . )ao Ao sliu] vgo,le Julldl Lass Jls
11. The author concludes that the benefits of Masdar City for the community and the
environment greatly outweigh any disadvantages. Is the author justified? Explain
the statement and your answer. ]
9 B0 Sl b .o Sl LS Isai dly geizeol) jaae dgae 5l9d Ol aloed| auisiwy
bl ddozdl (suse puog Saxslosow!
12. What sustainable energy sources will Masdar City be using to generate power? Write -
down two sources. )
S| Sadslall adgi J=> o yas duie Lplosiwsw sl 8530l @8l jslao sd bo
)0
13. Quote the sentence which tells about when the project of Masdar City was launched
and characteristics of the city.

&gand] Oliaow 8 ,han dude £9,mine 1/ slail (o e & sl Aozl Gasdl

B. Critical Thinking: asUJI jusail
1. Air pollution is threatening life on the Earth. Write down three suggestions that may
reduce its dangerous effects on life,
wde sl 0,50 o Laass Ul GBS lshudl 3 S| .uo, VI de bl sag slggdl gl
Sl
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2. Do you think creating a city in Jordan similar to Masdar city is a good idea? Explain
your point of view in two sentences. ) )
9 &y dp>g puog T8> 8,59 ad Hlao Aigde A UV (a9 dyin sluu] vl asisi s

aghall du>5e0ul WLI>YI

Question Number One:

A.

1. By definition, "Megaprojects” are expensive, public projects that attract a high level of

interest and media coverage. ) ] )

2. Any two of these: (owibss o ST uSs Ul gioy albMo) adlll (o uul>| Sl

a) motorways b) airports c) stations , d) tunnels , e) bridges f) entire city complexes

3. Masdar City is a megaproject in Abu Dhabi. It's the world’s first carbon-neutral, zero-
waste artificially-created city.

4. a. Masdar City will be a car-free zone, designed to be pedestrian and cycle-friendly.

b. Energy will be provided by solar power and wind farms, and there are also plans to
build the world’s largest hydrogen plant.

C. Biological waste will be used as an energy source too, and industrial waste will be

recycled.

5. Masdar City will be a car-free zone, designed to be pedestrian and cycle-friendly.

6. The current residents of Masdar City are all students at the Masdar Institute of
Science and Technology, a university whose students are fully committed to finding
solutions to the world’s energy problems.

7. sustainability (0uW ol/abigb &,58) pgau SI) @olxwVI

8. megaprojects

9. A desalination plant will be used to provide the city’s water.

10. They think that instead of building an artificial sustainable city, sustainability should

be made a priority of existing cities.

11. The statement means that the advantages of creating Masdar City are far more than

the disadvantages. The advantages include the fact that it will be the world’s first

carbon-neutral, zero-waste city. It will also be a car-free zone, although there will be
excellent public transport. The disadvantage is that existing cities are not
environmentally clean, and many people think the money should have been spent on
cleaning up existing places and making them more sustainable. :

Jol UgSunw Lpil @dus> Llyedl Jouisis ogadl oo puiSy ST ad ,uae die sli] Ulze Ol csuss 8Ll

oo pl sde bl (o als dlnio VgSiw oS .0g,SUl o Allss bles yao  pllall (88 @ido

oo 2iSs i aal cowd aoslall vl Of 8 cusll 83lndl plall Jadl Jlws s OgSew @l

olaiwl ST lplesg Lles 859>g0dl (SLVI whis e oy 0l wow Jladl Ol vgasiey wlldl

12. a) Energy will be provided by solar power b) and wind farms

13. Masdar City, which began its development in 2006 CE, will be the world’s first

carbon-neutral, zero- waste artificially-created city.

B. Critical Thinking:
1. a) We should recycle used materials. Sloodl 95 dsle]
b) We should walk more than using vehicles/cars.
LS ol Jlasicwl o ST (seinos 0l Lule
c) We should plant more trees. oVl o el £, ol Llude
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2. Yes, I think it is a good idea because it will reduce air pollution and protect the
environment. On the other hand, Jordan is a poor country, so I think it is a better idea
to improve the environment in old existing cities in Jordan.

O3,V 5,31 @l o sl woss elopll sl o passiw Y 8> 8,58 Lpil sl (o
03,V 0 aosla)l dosasll aiaodl (s @l s f Jasl 8,58 Ll adsel sl (s b

W Sgisoll 63l 9 W,9 L\l Blaiww VIl Wleds pdl b load
Verb J=9 | Noun pawl Adjective aso Adverb J>/W,b
produce gui | production  zl) productive  zloVl ,;¢ | productively
product el [ i JS_in
producer Qo eVl LS
————————————— medicine  wlb/slg> medical wsub | medically lub
————————————— nine Al ninth gwll | ninthly lewls
inherit  &,, | inheritancew,)/ w0 inheritable | —memmeemeee-
inheritor Oslell Ly )gi HSou
originate Liu, | origin Jool original Lol | originally ol
originality ol
invent /g iz | invention g sl inventive ¢l | inventively glal
ey | Inventor  guxo
discover discovery LSl discovered @ iiSh | mmmmmmmmmmee-
@Sy discoverer aiuSo discoverable
SlassW LB
influence )34, | influence b influential »4o | influentially
Héo JSaw
——————————————— tradition wl,i/aJss traditional sil i/ sadss | traditionally  Ladss
weave guwiy | Weaver (pazw)zbuwdl | weaved (jwlod) 9o | =m=--=mm--mm----
weaving(adoc) guawdidl
attract w.ix, | attraction wA> attractive Jo>/oli> | attractively  audlx
create/ glxs | creation elyl /8l> | creative IM>/g .0 | creatively el
€ /,Ssw | creature I9lxo
translate translation 40>, | translated P30 | =mmmmmmmmmms
p=>,is | translator P> 5io
——————————————— archaeology ,UVI olc | archaeological il | archaeologically Ul
appreciate appreciation appreciative appreciatively
B9y /38 D95 [50285 | seaab jAso/ (o [,SLi Olisoly /i85
educate education pad=idl | educational wwulsei | Educationally
ples | educator ploo | educative WS
collect collection collective Collectively
oy dcgoxo osuglss /&) yidno S)Las [ugley
install installation installed | =
Gle>) <Sn WSS ) o9/ uS Gle>) wio /S o
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operate operation operational operationally
Srxf/dein | Al Gdee /i Josl) jal> /us i Llseis /Lloc
a>ly> dloc
expect expectancy &35 expectant o /g9qio | eXxpectantly 8,0
&3¢ | expectation Jol /s>,
prescribe prescriptionaul as.og X X
eMe vy (CEITYY)
infect sas | infection Sglc infectious  Jla/Saso | infectiously
ool &yieo Ay,
diagnose diagnosis  ouxai diagnosed Lax.iwo X
(Loro)uasiny
intend intention intentional intentionally
Lady/ Seis Vad/rad/ay 128 € [aoc e | |dowio [rosio JSin
X surgeon gzh> b surgical >l,> | surgically
surgery éu>l,> adoc >l (§)b e
believe /asix, | belief  Oloul/slauicl believable oS | believably
Iy believer 050l OVl (,Soy/as)rai oy ain/ologl
conclude conclusion conclusive conclusively
P sy Ao/ & Lol &ibo/ powl> | &b [puwl> JSiw
succeed success el successful o=>L | successfully &l=u
el /e successive sJlio/giliio | successively gl

Question Number Two:
A. Complete the following sentences with the correct form of the word in
brackets. wowledVI G Wl als)] o puxal]l JSuidl Jlosiaw b Joxdl JoSi
. My grandfather was a very businessman. (succeed)
2. With your talents and knowledge, you have a good potential for

3. You won't unless you work hard. (success)
4. One of the engines failed, but the pilot landed the plane . (successful)
5. You can't results before carrying out the experiment. (conclusion)

6. The detectives came to the that the criminal must have used a knife. (conclude)
7

8

9

1

—

(successfully)

. I think that you shouldn’t everything you read on the Internet. (belief)
. There is a growing that the policies of the government won't succeed. (believe)
. He has recently undergone
0. We are looking for an experienced
child’s stomach. (surgery)
11. The of this programme is for young graduates who don’t have work
experience. (intend)
12. What do you to do after leaving school? (intention)
13. It is recommended that you visit two or three doctors before the final is
made. (diagnose)
14. My doctor said that he needed some time to
15. Direct contact with patients may increase the danger of
16. If you are very sick, you should stay at home so as not to
in the class. (infection)
17. In several countries, you can buy medicines without a
18. You can't take medicines unless your doctor

to transplant a kidney. (surgeon)
to stop the bleeding in the

my chest condition.(diagnosis)
. (infect)
other students

. (prescribe)
them for you. (prescription)
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19. Penicillin was one of the most important in the history of medicine.(discover)
20. It only took less than 24 hours to the criminals. (discovery)
21. A lot of patients have died because the hospital lacks important

devices. (medicine)
22. In 2013, the life for women was 75.61 years and for men 72.28 years.(expect)
23. They are still repairing the plane. It will be by the end of this week.(operate)
24. art is a relatively new genre of contemporary art - practised by an

increasing number of artists. (install)

aux>deoull GULIVI

1. successful:  businessman g¢a >9>g0Jl powVlg 3, lo powVl |8 dball 885 .asn/a=U
2. success: from/of/with/without/about/for : Jio =l Bg,> 12 oV géug . powl/z
3. succeed: can/could/must/will/won't : Jio adS_adl JedVl sz Jebll gés9 . o8/
4. successfully: (landed wlhis) 99 dlozl (59 Jooll O,k wayg . 8,b/z 1w
5. conclude:  will/would/must/might/can :Jio adS_adl JedVl sey Jeall gés9 . 28/ ey
6. conclusion: £l ae) powl 59>9 pac by iw a/an/the ae powVl géyg . powl/z lucwl
7. believe:  could/must/might/will/should : Jio aJSiidl JledVI se Jeoll géyg . )28/ s,
8. belief: (growing o) élell 8 aaally 6wl aaall a2 powVl Rayg . powl/slascl
9. surgery: @ Jgeao/ Jeall a2 powVl R4)9 . powl/au>1)> adoc
10. surgeon: (experienced ,u>) €l L8 8, il asall a2 ooVl g . powl/2h> s
11. intention: powl ghell ae) g8y UI b,cu a/an/the asy powVl Réyg .« powl/Bapl
12. intend: did/does/do :Jie d1cluwe Jledl 32 J=all gésg . )28/ Sei
13: diagnosis:  (final silps) aan ¢yl 8 8, ilv avall ae powVl a9 . powl/ assis
14: diagnose: t0 a2 J=oll gég . =8/ asuiy
15. infection: from/on/in/of : o =l Bg)> a2y pwVl géyg . powl/Sgaell
16. infect: to s Jeoll géyg . J=8/Sqael Jsiu
17: prescription: ¢ 1,al a2 powl giy Vi byu an/the/ a ass powVl gésg . powl/dub daog
18. prescribes: s,80 (doctor)  Jelall oV Jeall (o] s @8lolg « =8/ bay
19. discoveries: (important pgo) ¢ ,8)l L8 asnlly (@sanll a2 powVl éy9 20> powl/wldlussS]
20. discover: to 2 Jeoll géyg . J29/ @iy
21. medical: (devices 85p>1) ¢ 1,8l 32 powl A>9) .oowVl i daall gésg .aan/ sub

22. expectancy:
Joc Joss (life sL=l) JgVI ouwVl Joss @l 018 (889 «adliio Gaoowl g8 Ul 590 . oowl/23g5
ool o weSi (life expectancy 8Ll g9g5) - loowl ey sl powVlg caaall
23. operational: is/am/are/was/were/been/be Jld| 12 db.all géig .as0/ Jol jal>
24. Installation:
(installation susS,5) JoVl powVl Jomy @l 018 889 «udliio Gaoowl 881 Ul 9% @00/ oSy -
ool o UeSi (Installation art swS,l all) locwl e oLl pewVlg @vall Joc Josy

B. Complete the following sentences with the suitable words derived from the

words in the box below. There are more words than you need. ]

oo dasiaodl dwlinll wledSJl Jlosiwl a Ul Jozdl JoS| 1 9lasaw V] aliwl o = oy
LY 9 ad] glixi lowo ST wledS s . Bgaiall (9 sl wlodsU

| archaeology translation invention |
1. Can you this text from French into Arabic?
2. We really need ways to solve the increasing problem of traffic inside Amman.
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1. translate: will/would/could/can :Jxo alS il JlesVl s Sl gig . )28/ 05 i
2. inventive: (ways (9,b) &Ll a2 ooVl byl powVl b daall gis .a8o/E Ao

C. Complete the following sentences with the suitable words derived from the
words in the box below. There are more words than you need. ]
2I9aall (89 il WlodSUl o dassiinedl awliodl wledSJl Jlosiwl aJldl Jozdl oS

| productive success weave tradition |
The Bani Hamida Women's (1) Project started in 1985. The purpose of the project is
to revive (2) Bedouin rug weaving. Older women in the community are eager to pass
on rug-weaving techniques to younger generations. Today, women (3) beautiful
rugs. The project is very (4) and bring in good income for women.
C i WL
1. Weaving:

( weaving zuws) JgVl puwVl Joss @l 01 (599 «pudlse ool 81 Ul 550,880/ guow
oo wesSis (Weaving Project  guaww g9,uii0) locwl ey oldl puwllg cavnll Joc Josi

2. traditional: (Bedouin rug weaving ) powVl Jd asall géig.a0.0/Saudas
3. produce: (women) g9 3 il Jeladl a2y Joall gé49 . J=28/zui
4. successful: too/so/very : Jio wlodS a2 asall géig Q0o [a=>U

D. Complete the following sentences with the suitable words derived from
the words in the box below. There are more words than you need.

Amazing (1) (MEDICINE) advances are constantly taking place in these
days of technological and scientific (2) (DISCOVER). Many people expect
instant cures, and prefer to get a (3) (PRESCRIBE) , but it is worth
remembering that our immune systems can fight (4) (INFECT) and
diseases on their own, too.
Research has been done to find out why some people survive cancer. One hundred
people who had survived a serious (5) (DIAGNOSE) were interviewed
twelve years after they had been diagnosed. The (6) (INTEND) of the
study was to discover if there was anything in common with the ways in which they had -
acted after their diagnosis. They had all used different treatments such as (7) |
(SURGEON), radiotherapy, acupuncture and special diets. What they all
had in common, however, was a strong (8) (BELIEVE) that what they
were doing would be (9) (SUCCEED) .
This survey has limited (10) (CONCLUDE) but one thing it shows is that a
positive attitude can help your immune system to work.

i\ s D oy UL

1. medical: (advances ol ghi) 8l puwll 8 asnall gaig .asn/sub
2. discoveries: (scientific auolc) dho A= iyg o> powl/wBlaus|
3. prescription: ¢l a2 powl g8y Vl byiw  the/an/a as géy9 . pewl/aub asog
4. infections: @ Jgeaoll 890 09 ooVl giug o> puwl/Sg9asll
5. diagnosis: (serious ,ubas) (sdg 8,le avall ae Réyg powl/ Lozl
6. intention: gl a2 powl ey VI bysw a/an the as gé19 powl/Bapll
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7. surgery: (such as M) Jio wlhlic a2 powVl g9 powl/au>l,> adoc
8. belief: (strong S¢d) sdg &bl asall A=) oVl Riyg . puwl/slascl
9. successful: is/am/are/was/were/been/be :Jld| 12y aanll géig .asn/a>U
10. conclusions: (limited >9a=x0) s®9 8wl daall a2 powVl 819 20> puwl/wlsluwl

wlSg LJUall LS (89 WladSIl uslod 08 Wy il WledS)l o> sle 55, 1OladSIl /ppo
8,150) Ulsiol (08 il WLe (abaiuVl
Question Number Three:
Vocabulary
A. Complete the following sentences by using the most suitable word from
the box. There is one more word that you don’t need.

| share, create, contribute, solar, floppy |

1. Communicating through the Internet has helped many people to ideas.

2. When was the last time that you used a disk to store some data?

3. Our school decided to a school website. I think it is a great idea.

4. Because of the high costs of oil and gas, a lot of people will turn to energy.

B. Complete the following sentences by using the most suitable word from
the box. There is one more word that you don’t need.

| privacy, fraud, trial, waterproof, force |
1. With the increasing use of the Internet for different purposes, a lot of people are
likely to be victims of identity
2. To protect your personal information on the Internet, you should update your
settings.
3. Jordan needs to improve the skills of its work
4. You can wash this smartphone thoroughly because it's

W Jlgal) du>dg0ill GUL>YI

A. 1. share: (S5V1) J,Law 2. floppy: U,o (Lo,9)
3. create: (wu g9g0) Eoiaiy 4. solar:a o (adlb)

B. 1. fraud: (auazdidl) Jl=wul 2. privacy: aiogazll (slac|)
3. force: (adoldl) sgall 4. waterproof: :lJl 1o

share ,S3Y1 &S, Lino) Jio izl lpazs go Wls il woadl wlolSUl has> (sle S, aswmai
.&Jl...(identity fraud duazudl Jlxwl) (floppy disk Uye yo),9) «(ideas

t L S pudouil-S suloeil aJW (idioms) wlbdlas)l ulee bl ppo

1. feel blue= feel sad Ul e
2. see red= get angry oy
3. the green light= permission & locudl/U3] e Jga=ll
4. red-handed= in the act of doing something wrong

sgpinadl py2)b pundio/ésbls o Joss 09éy
. out of the blue= unexpectedly cs>lan/R9gi0 Hue JSiw
. a white elephant= a useless possession: dlall pyac aSlos sesnw

[o) S, ]
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C. Replace the underlined words with a suitable idiom from the box.
w992l o wawlin gdbuoos Jlokiwl b i \all Oledsdl Jasuwl

feel blue seered the green light red-handed

out of the blue a white elephant

1. The child felt sad when he learned his parents had canceled the holiday to Egypt.

2. The man was caught inside the jewellery shop in the act of doing something

wrong.

3. The new dam cost a lot of money, but it will become a useless possession because
of its location.

4. You can't start construction until you get a permission from the municipality.

5. When anybody search my smartphone, I get angry.

6. Then unexpectedly, a lion appeared coming out of the bushes.

a>>g0ull C (wyoi WL
1. felt blue 2. red-handed 3. a white elephant
4. the green light 5. see red 6. out of the blue

D. Read the following sentences and then answer the questions that follow.
oali sl Alisw VI G il g3 o9 AW Jodl 1,31

1. When I went to live in a new city, I felt blue as I didn't know anybody there.

What does the underlined idiom “felt blue” mean?  ¢"U;=JU =" adlhasdl usy 13

2. The table is too big for my kitchen. I think I should it is a_white elephant object.
What does the underlined idiom “white elephant” mean?
o 32510 Vg aSloi s b aixs Sl pdlaasdl susy 5o

3. You shouldn’t start the match unless the referee gives you the green light.
What does the underlined idiom “the green light” mean?

a5Vl egall" b aiz Sl pdhasl cuss I3k

>>90ul D (iy0i UL
1. felt sad 2. a useless possession 3. a permission

E. Complete the following mini-dialogue expressing your opposition. o

Le=ouuwi W\l 6)Sel) diio)leo e a9 juid W juasdl )lg=dl JoSl
Fadi: I think using the computer has killed real communication in our life? )
You:

t S\ oS adeoy il
You: On the contrary, I think the Internet has increased our communication. You can
contact your family and friends at any time you want. ) )
Lol Llolgi 515 48 ooVl ol assicl (pusSell e el
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Question Number Four:
Grammar
A. Complete the following sentences by using the correct verb in brackets.
1. When I was 10 years old, 1 (used to ,drink) a lot of milk, but now I don't.
2. In the beginning I found it difficult to sit in my office, but later

I (used to ,sit) there for long hours.
3. We (not used to, visit) my grandparents every week last year.
4. It was very difficult when I started studying at university abroad. I

(not used to, cook) and washing for my self.
5. Mr and Mrs Murphy has been in Jordan for 2 months, but they are
(not used to, eat) Jordanian food.

6. I could not concentrate on anything this morning because I (be, work)
on my project all night.
7. I arrived from Egypt on Friday. I (not,be,work) for a week.
8. Ahmad made a big progress in English. He (be, study) it daily for a year.
9. Don't let anybody annoy me in the next two hours. I (be, upgrade) my
computer.
10. I can't start job now. I (be, study) at university in three year’s time.
11. This time next week, we (visit) some of the most important
historical sites in India.
12. The Ministry of Education (build) 7 new schools by the end of the
next year.
13. Sami looks fit and active. He (be, exercise) for 2 months.
14. Hadeel had her photos (take) by a professional photographer.
15. Some houses (destroy) by the earthquake yesterday.
a>>goull A (wiei UL
1. used to drink 9. will be upgrading
2. was used to sitting 10. will be studying
3. didn't use to visit 11. will have visited
4. wasn't used to cooking 12. will have built
5. aren’t used to eating 13. has been exercising
6. had been working 14. taken
7. hadn’t been working 15. were destroyed
8. had been studying

B. Complete each of the following sentences in such a way it means the same

as the sentence before it. ] %
Lol Bl Aozl usoe Yt alosdl (bl Gusw adUl Joddl JosSl

1. “You have taught me very important things in life.”

Amira told her father that :

2. The police stopped two men last night for being suspects of the crime.

Two men

3. It was a habit for me to wake up early when I was a child.

I used to

4. It was difficult for me to wake up early, but now it is normal.

I am used to NOw.
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5. Ali won the world heavyweight championship in 1964.
The person
6. Henry Ford produced inexpensive cars for all people.
It was Henry Ford
7. My uncle visited Paris in 2008.
It was in 2008
8. Hadeel started her work at the bank from 2012, and she’s still working.
Hadeel has .
9. Petra attracts thousands of tourists every year. It is in the south of Jordan.
Petra,
10. I asked someone to paint my house last year.
I had

B Jlguuw aux>de0il GULIVI
1. Amira told her father that he had taught her very important things for life.
2. Two men were stopped last night for being suspects of the crime.
3. I used to wake up early when I was a child.
4. T am used to waking up early now.
5. The person who won the world heavyweight championship in 1064 was Ali.
6. It was Henry Ford who/that produced inexpensive cars for all people.
7
8
9
1

. It was in 2008 when my uncle visited Paris.

. Hadeel has been working at the bank since 2012.

. Petra, which is in the south of Jordan, attracts thousands of tourists every year.
0. I had my house painted last year.

C. Rewrite the sentences with the words in:brackets. ]
o9Vl o il WledSUl Jlosiwl Jozdl OLS acl

1. It is normal for me now to live in such a hot weather. (used to)

I

2. It was a past habit for my father to spend a week in Agaba every year. (used to)

My father

3. Maha prefers to watch films. The films are romantic. (which)

The films,

4. I think you should look for a new job. (would)

If I

5. My mother asked someone to clean the carpets for her. (had)

My mother

6. Our teacher explained the grammatical rule, then he gave us a qU|z (before)

Our teacher had

7. It is possible that Sami is in the library now. (might)

Sami

8. Someone broke the window of my car last night. (was)

The window of my car

9. It is not necessary to wear a suit for the meeting. (have)

You

10. You aren't allowed to enter this room. (must)

You
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1. I am used to living in such a hot weather.

2. My father used to spend a week in Agaba every year.

3. The films, which Maha prefers to watch, are romantic.

4. If I were you, I would look for a new job.

5. My mother had the carpets cleaned.
6
7
8

. Our teacher had explained the grammatical rule before he gave us a quiz.
. Sami might be in the library now.
. The window of my car was broken last night.

9. You don't have to wear a suit for the meeting.

10. You mustn't enter this room.

D. Complete the following sentences with a suitable item from those in the
box.

|The a an - usedto isusedto which who when |
1. I met many foreign students came to study in Jordan.
2. The children felt excited when they saw elephant walking in the street.
3. Majeda watch a film on Thursdays.
4. Nihad swimming at sea at cold weather.
5. Indian Ocean is the third-largest ocean in the world.

D Jlguu aux>>deoidl LULUIL>VI
1. who 2.an 3.usedto 4.isusedto 5.The

D. Complete the following sentences by using the correct form of the verbs in

brackets.

a. The bullet train or Shinkansen is a high- speed rail system that (1) (serve) as
the core of Japan rail transportation network. Shinkansen (2) (link) the major
cities of Japan since it (3) (first introduce) in 1964 CE. At the moment, the
network (4) (expand) with newer, faster and more environmentally-friendly
trains navigating through the country’s mountains.

b. The London Underground, which (5) (know) as The Tube, is one of the most
famous underground rail systems in the world. The Tube, which (6) (get) its
name from the shape of the system’s tunnels, (7) (serve) commuters since .
1863 CE. It is also one of the biggest networks, as it (8) (currently run) over
408 km and 275 stations across London. There are plans to build at least 10 more -
stations in the near future!

¢. The Shanghai Maglev Train is one of the fastest trains in the world: its speed (9)

(record) as 431 km per hour. The train takes only seven minutes and 20
seconds to bring travellers from Pudong International Airport to Longyang Road Station,
which (10) (be) about 30 km away.

i\l LS D yusei L
1. serves: oo )
Gzl Al pll) Jelally s> oo Gaxi alozdl OV (o] i) bun £)lao
J=adl (sJl s Laol cJAJ (5,90 (rail system
2. has linked: L, )
Joeiws i OVl > dga> dinly swolodl 8 1y Jeall Ol Jyy aoxll 8 (Since) sg>9
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linked Uzl Il <as el + (has) Josirs Ui sya0 Jells oWl &, landl
3. was first introduced: 5,0 JgV pazeiwl
oo3ll (58 Uspzall sinoll 62008 sk i) (ayayamell Sl plbs) @y Jsmsall (sle o (it)
it @ Jozaoll Ol Loy cJzall Wl waupaidl +were ol was Lo| oo 0sSi adly casloll

Was  Josiw
4. is expanding: gyl )
Josiw i (Lhoiwe Jax J=adl Ol sde Ju Jozdl 9 (at the moment W) s9>9
ing +J=8 +is Josiws Ui 5,00 (network ascadl) Jeladl « oiwnll ¢ ,laoll
5. is known: &,s, : :
L ass> dozlly ((London Underground waid Bl g550) @ Jgeaolb o ddozdl Ol Loy
@ adl + (is/am/are) oo JSoiws il g lacdl o3l 8 Jgp=xol) suuoll dacld  auns
380 @ Jgeaall OV is Llasiwl .known gag know Jseell Jul
6. got: ool (88 (spiily Ja> sl e Gaxi Aol oV ol el ¢a (got)
7. has served i /has been serving: 41> 015/01>
JMH-*U Ui ‘u\” > C{J9,a> .Luo|9 MLQ.” 9 |.\J Jy_o.” u| Ju do=dl 9 (smce) >9>9
J=all) seiadl ol g,lanll of (cila> 38 dvazdl 0L ploxaVlg cspiio Jeall) Ul g, laoll
Y 55l U (8 posuno I35 Y @oazdl Ol plosaVly dl oiwo Jisy V
8. currently runs ql/is currently running: Jeiiu/ waw
(JoVI s paidl) bl g laoll Joasiwl 3ls Ui as,é=)l aey 28 (currently W) s9>9
e (isfam/are+ving) ool & laosl Jlasiwl Layl 35l>g 5,40 it Jela)l OV s a| Slayg
Ayl asoudl e yuudl 3 e Bl g0 Ul Gwlwl
9. has been recorded: «.lx.w ‘ ‘
Jozeus pig WJgp=xod) suunll 8acld gudoi (its speed aic,w) a4 Jgeaoll 1o ao=dl Ol Loy |-
eslandl o3l (59 Jgpxol) (siuodl Jomiws M coudl SU p) Sy (solodl (59 ac,udl |
Jg=aoll OV (has) Jesiwwg .JUl il +been+ (has) ol (have) o JSiw Sl oLl
>80 )
10. is:
bywdl g)laoll Josiows A (oS 30 laoll e dbaxoll 1) asus> e doxdl waxs
oV is llesiwl .is/am/are:aJil JedVl o>l ¢a (be) Jeall oo JgVI iy paily (JoVI oy pail])
S0 Jelb (Station adaxoll) Jeloll
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aggall 90l o> o 1V Gupedl lis J=s apsall QLS e 8 Wl Gopedl taka>e
aJudl o_,g.a.” X 9| .69 axa0 L)J)LQ.A.”S Q.]a_a.ww ols 9 o>9.>90J|

Consonants

Symbol

S Shilo B g

M OEN =N »

Special signs

Vowels
Key word Symbol Key word
pen short I bit
back e bed
ten ® cat
day D dog (Br E)
key A cut
get U put
fat 3 about
view i happy
thing u actuality
then
soon long i sheep
zero a father
ship o four
pleasure u: boot
hot o bird (Br E)
loch
cheer diphthongs el make
jump ai lie
sum i boy
sun & note (Br E)
sung ao now
wet &) real
let e hair (Br E)
red =) sure (BrE)
yet uw actual

io peculiar (Br E)

Vil
12/

(Br E)

shows main stress
shows secondary stress

means that there is a brief pause in the word and no sound
comes out until the next letter is pronounced

British English pronunciation

E. Write the correct words for the following phonetic transcriptions:

1./ enad3i / =
2. /1 kwipment /=
3./ akjupanktfa /=
4. / f1'lpsafs /=

rad Wl awiguall OLLSU asuxall OlodsIl wusi
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1. energy 2. equipment 3. acupuncture 4. philosopher

F. Change the British English words written in bold into America English
words. Sy ol Wl Bl b augisol] awiliby | wlodsl dp
. In the UK, you eat biscuits; in the US, you eat
. In the UK, you take a lift; in the US, you take an
. In the UK, you go on holiday; in the US, you go on :
. In the UK, you put petrol in your car; in the US, you put in your car.
. In the UK, the third season is autumn; in the US, the third season is
. In the UK, you eat sweets; in the US, you eat
. In the UK, you throw away rubbish; in the US, you throw away

F Jlgau) au>>e0uill LI

1. cookies 2. elevator 3.vacation 4.gas b5.fall 6. candy 7. garbage/ trash

NOUubhWN -

G. The following sentences are written by using American English grammar.
Change them into British English Grammar.

Siadxil Acled VI lpdo> ASiroVl SVl Aclgd Jlomiwwl AWl Jodl s

1. Did you find your keys yet?

2. When I get home, I first take a shower.

3. Tom has gotten his present.
G Jlguww aux>dgoidl GLYI

1. Have you found your keys yet?

2. When I get home, I first have a shower.

3. Tom has got his present.

Question Number Five:

Editing ,u Ul

Edit the following text. There are three spelling mistakes, two grammatical

mistakes and one punctuation mistake ]

aclgall 88 ullazg Mol (s slasl 3 Jld a>g (pxxogy clhasVl 3> i) LI vaidl 5>
pad il OloMe (88 ax>lg Unzg

Ibn Rushd also wrote books on psychology, geography, physics, maths and music. From
the age of 31 until his death about 40 years later, he has written an amazing number of |-
books - at least 80 books of his own as well as a large number of tranzlations of Greek |
philosophy. Although the place which he died was morocco, there is a statue of Ibn |
Rushd in Cordoba where he was born. and where for many years he lived as a schoolar,
lawyer, scientist, doctor and writer.

‘ Editing Jluw du>dg0il WLV
Unsdly 2uall wiSi Y .6,159)1 Uliol @By (sle dsumall LY s sl alas>Meo

WO AR N> uuulg.'éi YY) 1°69] Leog ou

Grammar mistakes: aclga)l clns|

1. wrote (not has written) 2. where (the place where)
Spelling mistakes: MoVl U |

1. translations 2. Morocco 3. scholar_
Punctuation mistake: p.9,i UloMc slb>|

1. (, and) ( . and Us)
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Question Number Six:

Literature Spot RENCEYY :
W b (Aasdlg Ailasdl) LVl asiu e aiuwl J=J 6,159)1 Ulinl N9 Lallbwoll

:aJWI (rhetorical devices) aucMJl GlgsVl ppdlg o>l .1

Writing skills: Using rhetorical devices )
aclJl UlgdVl Jlosiwwl :aulis Ol,)lpo

Simile: auwull
- Some robots will look and sound very like humans, because technology will have
advanced a great deal.

©eki/caoaii 18 WeSiw LgleiSil OV il Jio Lpiso WsShwy 9awiw wligs,)l Lasy

- Treatment and medicines will taste as delicious as real food. ‘
wsini=ll plelall Jio L lposb UgSow @i93Vlg 2Mell

9 aJUll wleds)l 399 e abluw (simile auwinildl) e W =l liSo, (alb>Mo
eVl (58 o Jliol g=1, .(look like guu (like/as a i/ Jio) élozl
Metaphor: ;lxo/6,lxiwl
- The world will be at your fingertips. . clelol Gl,bl (sle pllall 0gSiw
Jlosiow! ven @)las sl (simile awadl) o (metaphor §)lecwdl) wlixi ralba>Mo
e a>9 V plledb sdus> e pMS (s §)leiwll Laly .(like/as ain) Jio wlols
ad,20ll Jo> Joy ol u|9 (998SJl e pIS ol Ul ppsi Lodic Sy LoVl Gl,bl
(o ol ou9aSall Ly 118 (sl @pyall (sds) @1loVl Blhbl s,k e pllall 2o Jolsills
p\lS.U @S)xn ‘_suszonk_s\w).a.C/o\lSﬂ u|p.g;u.\.:.\.a.c

Onomatopoeia: aug.all 6lSkxoll
+ Everywhere we go we will hear the constant buzz and hum of technology.

L>9)oiSsll Aogodg Guib o V9w adl Lal UlSe JS (59

o) powVl sy s SUl sosoidl Jio Ligo @olS b dwgall slSlaoll 1alas>Me

loa (hum aogogll) 5 (buzz Guikll) ol Jurw (sdod Lo sesis sy Sl (wall
Lodlgs g low ,iST Lt wliss Vg dsgall 38oll olialsio oliols

Personification: ol

+ Our computers and mobile phones will take care of us, by telling us when to wake
up, eat and sleep.
ol (siog JSU Lsuiog casuiws (sio Ut 0b Laule y @uglzdl Laslgag Uil igunS pgiiw

lpei bl Jliadl n8d 0Ll Ssbo b sosd auis 98 Laskddl :ab>Mo
vy pli sio asladl W asgy Uley vlws] Jio Wb aglsll wilselly ol yiguos]!
Al... st
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Rhetorical devices in "I remember, I remember”

" Sl (Sl aSail " SAmad S\ acMJI -.....JL.»MI /ol .fkl!

wle aJWl @iVl o> .(Personification yowswiaid!) (sde Sl (sl auad o aliol I

H-YC S |

Aaclgodl (8a9> Lok LgilSe puowid] e AWl OVl 9 e lidl &axiy

1.

The little window where the sun & uall 830Ul o puonidl C>
Came peeping in at morn; cleall (09 Ll iz (b wolS
He never came a wink too soon, (Wwacgo L8 ol juowidl Wb ol
Nor brought too long a day, do> Wgb podl wde> Vg

by, i) awlail Jow yasw Gl Jlll oo el Gaxin adWl OVl o9
(Losopo guway Ul Jud Ulog ddusuuld]l aidgab ol pJ @l 9) (suiouis

2.
But now, I often wish the night Jelll ol oJ ool WLe U« ,SUg
Had borne my breath away! !l sewlas] Jo

ols i) il @l o ils a>g) oo sl Laxi aJdull uLuUI WS\99
(Aol O Ta> lauzuw
3.
‘My spirit flew in feathers then’ Ll slss Lpadg s>y, cuilS
4,
Ol gabriowsi (o pasww Lils @uswall slall J e relidl Gaxiy adWl oVl (g
(baure ail boy)) v vl SUI (ol s

‘summer pools could hardly cool /The fever on my brow )
> e sl ol feadali Ol Hasi Vo aall &g

o UlalsS Jlowiwl vol awwini ((bxodl/é)liawdl) A e Jlo .o
:(like/as Joo"

Those flowers made of light! legall o acgian 59,9l &l

:(awigmall 5lSxoll Onomatopoeia: ) e aliol .2
- rush, fresh, swing

Rhetorical devices in “All the World’s a Stage” ) )
: Qusin>> LS el o " 6auad 59 auc Ml wudlwVl gl/wlgsVI

(as/llke) Jio wlols uulSJI J.oa...uu osle (Simile auuinill) e aliol .l .

- creeping like snail Ug=S >
- and bearded like the pard, ¢ JouS 9\21.1,49

:(wig.all 6lSlxoJl Onomatopoeia: ) e Jln .o
Whistle

10lasll (9 (goledl bzl agiSoll wledSUl vl o> .2
A. I remember, I remember: Sl ol Sdil ol
- (My spirit flew in feathers then)= The poet remembers his childhood being very

happy )
la> dousw Ll adgab ,Siw seladl =(cdg)l el (8 lpizuml n>g, waal>)
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- (That is so heavy now)=but now he is not so happy i i
la> [uew pud 98 OVl Sy = (VM o> aluss Lpil)

- (The fever on my brow!)= he says that he is so ill now that they wouldn't be able to

cool him down. ) )

3,00 Ul gadaias V aanall &ydl Ol Gy OV s> Laue U Jgdy (osuus sde il swoxdl)
.qj)l)D' ()

- (To swallows on the wing/My spirit flew in feathers then)= We know that wings
and feathers are both things that birds have, and that they fly, so a swallow must be a
kind of bird.

izl AalS Ul Byei o = (clgll s (59 Lpimioly (s > /3l (g gigiad] 9uhal)
lsl b V (sl sallow) aolS cli b lpily ekl ) csill sVl o LadMS s
ookl oo £95

- (Where I was used to swing,)= to make regular movements forwards and backwards
or from one side to another while hanging from a particular point o
08 loiw L3 |l wils o 9l walzdly ploW andhiie WIS = poas Ul =(a=,bl Ul waiel cus)

- (And thought the air must rush as fresh)= the air fresh and cool ‘
5,L9 Linzio OIS slgpdl =(Lixgio OIS slggdl UL w)y=is ol/wasicly)

All the World’s a Stage: g w0 s Souw pllrll b .

1V b WD "o s Soaw pJlJl b" sao9 o Lbe> ugllboll Ll -

- (And so he plays his part)= A ‘part’ is a role in a play and the expression is ‘to play
a part’. )

Shes weli Ul" 98 Josiuwell jusidly duspuio (59 595 90 "y9> part”

- (last scene of all)= The ‘last scene’ is the end of a play and Shakespeare is
connecting this to the end of life.

Ll &ylpis 138 jewSis byg Lo @ yanod @lpall 98 "Vl ap ol

Lphros> clio wglho ye SJs el Glul ppai Ul dide @ damasl] ppd .3
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Literature Spot: L>VI assu
1. Read the following lines from “I Remember, I Remember”, and then
answer the questions that follow: ) ] )

s JawVl 8 aiwVl e ol o Sl sl $awad o adll Jaw VI 13l

I remember, I remember, S35l ool « Sl sl

The house where I was born, (a9 wlg Sl el

The little window where the sun dpu2all 838Ul o puroidl >
Came peeping in at morn; cluall (09 Ll puliss (iU wolS
He never came a wink too soon, (Wwacgo L8 ol juowidl b ol
Nor brought too long a day, o= Mg pgdl wde> Vg
But now, I often wish the night Jodl Ol o (suwsl WLe Ul ‘J}JI oSy
Had borne my breath away! lsowlal Jo

a. What rhetorical device does the poet use to describe the sun?
S uonid] @b ol elidl aosiows Sl seMJl glwVl ¢a o
b. What rhetorical device does the poet use to describe the night?
S Ll cwad yelidl alasiown Sl e Ml wglwVl g8 b
¢. What does the underlined word “He" refer to?
Chs lpixi sl "He" aodsSdl g0 15l (sle
d. What are the two feelings of the speaker/the poet contrasted in the lines?
S lawVl 0is s ,eladl ol/ pdSinll Logiw 0,18 uiddl il seliwodl lod Lo

1 (wroid Aux>deoull OLLVI
a. personification Lol b. personification c. the sun
d. The feeling of happiness to remember his childhood, when the sun comes and he
starts playing and his feeling now as an adult, he is not happy- he might wish he died
before he became an adult.

2. Read the following lines from "I Remember, I Remember”, and then
answer the questions that follow: ) ] L
eVl (8 AVl e ol o5 ")S il (ol 8apad o a Ul JawVI 1,3

I remember, I remember, Sl ool « Sl vl
The roses, red and white, cslandlg clyozdl (>9,6]l
The vi'lets, and the lily-cups, (S| - w9sSe guwsidl 39,9
Those flowers made of light! ) legall (o cgian 39,0l i
The lilacs where the robin built, aslicel bzl ol j90ac Lo o I Lo
And where my brother set >l ey Cumg
The laburnum on his birthday,_ _o0Muo due (09 Lwoil 8w
The tree is living yet! OVl (s> s 8,2eid| Jljs V

a. What rhetorical device does the poet use to describe the flowers?
$ 903l waad sebadl alosinwn Sl seMJl wglwVl ¢a o
b. Which line may suggest that the poet’s brother is dead? )
Sewo yeladl Busi Ob ooy bou, (idl o ww) Hlow Sl
c. What is the name of the tree that his brother planted on his birthday?
CosMuo e 9 093l lpe); il 8 =l powl bo
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a. metaphor ;lxo/8, 2wl
b. The tree is living yet!
C. laburnum

3. Read the following lines from “I Remember, I Remember”, and then
answer the questions that follow: ) ) o
el 9 diwVl e wal o3 ST sl Sawad o a Ul W VI L3I

I remember, I remember JEVIEN RSV RN
Where I was used to swing, ) ] 2ol wsS e
And thought the air must rush as fresh Lieio (8935 @l 1y V slgp)l Ol wasscly
To swallows on the wing Bl @9 gigindl Houb dxixl (e
My spirit flew in feathers then il sl Ladg o>g, wulS
That is so heavy now, OVl > alyis Lpisty
And summer pools could hardly cool whali Ul Has V wwall &g
The fever on my brow! lsinn> sde il ol

a. Give one example of personification used in the lines. ]
$lawVl 03 9 Josiw! panzaisdl sde a>lg Vo lacl
b. What does Tomas Hood mean by saying “That is so heavy now"?
'OV o> alusd 9" agdy 398 Lwlogi ,elil 1ad 50
¢. How does the poet contrast his memories of the past with the present day?
Cpoll Lol o (suolall WSS Helidl U)le) S
d. What rhetorical device does the poet use to describe the summer pools? :
Sauanall ol cad selidl alosiows Sl seMul wglwVl g Lo
e. Find an example of onomatopoeia in the lines.
SV eVl 0id (58 agall 8SIsall (sle o>l Vo 1>
f. What is the name of the bird mentioned in the lines?
oVl 03 9 45530l ylall powl b

3 (wroid Aux>deoull LLVI
a. ‘My spirit flew in feathers then’
b. now he is not so happy.
c. The poet remembers his childhood being very happy (My spirit flew in feathers then)
but now he is not so happy (That is so heavy now). He also remembers the summer
pools that he probably used to enjoy cooling off and swimming in on hot summer days,

but he says that he is so ill now that they wouldn't be able to cool him down (And

summer pools could hardly cool/ The fever on my brow!). ) g
o) OV Sy (Wil s (9 wsl> (s>9)) > duew wilS il adseb yeludl Sy

Ol Loy, @l sily abrall aslowdl Iy Lol Sin g8 (VY > alsi sdg) i lausw
la> pauye @l Josy aiSly 8=l apall 2Ll 59 s aslowdly <lodb shwswVU/s il Rioioww
ozl /5,05 Ol gl o @iwall @slowd] 3pg) OV oau,w 3l 0id gubbiws o) Causw WV

(lesin> (sde sl
d. personification Laszul
e. rush
f. swallow: gigiud! L5lb
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4. Read the following lines from “I Remember, I Remember”, and then

answer the questions that follow: ;,.c >l e ",S il (l" 83008 oo @l Jlawll 13
s JawVl (9 alw VI

I remember, I remember Sl sl ¢ S35l sl
The fir trees dark and high; adleg aSls wols wgadl el

I used to think their slender tops al=idl lpowd Ul dsucl wuS
Were close against the sky slowd| o a8 wols

It was a childish ignorance, Lol Mp> OIS as8)
But now ‘tis little joy 28l Ho Judd s 0Vl ,Sg
To know I'm farther off from heav'n elooadl e o ST OVl Gl W,el (o
Than when I was a boy. Lo S boaie ade cuS loc
a. What does the poet miss in the lines? oVl 0id 8 ,eladl assa, 13k

b. Which lines tell you that Tomas Hood has lost his innocence as a child and he fears
his life after death? ] )
Cogoll ae Al (suinw aily JalS ajely 289 58 Lwlogi yeladl ol &z ol i
¢. What are the two situations or ideas contrasted in the lines. )
lawVl 0is s el lagiw U,lay obll bi,Sall of VWl lod b

4 (o roi) Gu>de0ull OLLVI
a. He misses his innocence as a child and the feeling of being blessed because he was
“close” to God.
b. To know I'm farther off from heav’'n
Than when I was a boy.
c. The two situations: He was innocent and ignorant when he was a child- he was close
to God living in a blessed time, but now he realizes that he is away from God and he
fears for his eternal soul.

5. Read the following lines from “All the World’s a Stage”, and then answer
the questions that follow: o
rJewVl 9 iVl e el o "o i Sgaw pllel b 8awad o adldl w13l

And all the men and women merely players; Ugliow >)=o cluidly J= | gao>g
They have their exits and their entrances, Pelo>39  pp>9y> g ppd
And one man in his time plays many parts,.... @l> 9 dxnac Llosl wely J=)JI
At first, the infant, Aadoll Jaloll JgVI ;901
Mewling and puking in the nurse's arms. G yo S G Liing Sy 99

Then the whining schoolboy, with his satchel
oy dol] Qs> Aoy ol (o 495 sl B3
And shining morning face, creeping like snail ug=S w>j3 oWl >luall ap>g
Unwillingly to schooal. ...... aw,aodl Wl b)lS iy
a. What are the two stages of a human'’s life mentioned in the speech?
folbzdl 1ia d wb,eS il ULl 8li> 8 Llid>0ll Lo L
b. How is the schoolboy described in these lines?
SlawVl 038 (09 dw,inll ol ang S
¢. What rhetorical device does Shakespeare use to describe the schoolboy?
Sétow 3ol duali o juawSai alosiwl Sl e MJl gl Lo
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5 o ax>deodl LULIVI
a. 1) babyhood (the infant) 2) childhood (the schoolboy)
b. The schoolboy complains all the time. His face shines like the bright and fresh
morning. He carries his school bag and unwillingly goes to school at the speed of an
insect (snail).
C. Simile aall (creeping like snail la> s sdn) iy 1Ugl> i sinoy)

6. Read the following lines from “All the World’s a Stage”, and then answer
the questions that follow: o
rJewVl 9 iVl e el i "o A Sgaw plledl " 8awad o adldl w13l

Then a soldier, Szl g3 sl oo
Full of strange oaths and bearded like the pard, ¢ 30uS sxidug A ,E d9cq) sesdo
Jealous in honor, sudden and quick in quarrel, JUsl je=i09 s>Vl WO ol
Seeking the bubble reputation Q840 Ay puw b,p s (pE Cuzew
Even in the cannon's mouth. &30 adgd J>I> wilS 9lg (su>
And then the justice, coswolal 595 il pJ
In fair round belly with good capon lined,  ¢uomw cbs Jolis 389 Juo> s ooy 95
With eyes severe and beard of formal cut, Aol duoow) uxd g Uliawld Ulucg

Full of wise saws and modern instances; & yasll wdlgolly douS=l JloVU dsdo sl

a. What are the two stages of a human’s life mentioned in the lies?
oVl 03 9 0li,eSiedl lusYl 8L> o Uld> el lad b
b. What rhetorical device does the poet use to describe the soldier? ;
Ses szl wad elbadl alosiown Sl seMJl wglwVl ¢a o
c. How is the soldier described in the lines? SVl 0id (89 Szl oy pi S
d. Which word in the lines refers to a weapon used by soldiers? : :
¢sgizedl alosiwy 2Mow (sl i HawVl 03d (28 aolS &l

6 (wroi) Au>>e0ull LLLVI

a. 1) early adulthood (the soldier) 2) late adulthood/middle age (the justice)

b. Simile (bearded like the pard ol Jio s=xily)

c. The soldier is ‘jealous in honour, sudden and quick in quarrel!. He is also ‘seeking the

bubble reputation! (he does things that make him look good even if they are pointless)

‘Even in the cannon’s mouth! (even if it means standing in front of guns, i.e. going to

war or getting into fights). ] :

Jeaxll (e Lol 989 lac,uug 8129 Hled 89 > «O,adl e pay>/ eue’ Sl

»E JedVl 0id wilS o) i > 9aw o dexi sl sVl Usey) laclasS deoow (e

> 59 Jg>all (sl (95Ul plol W89l (susmy IS OIS o) (i>) 1g920 8 (8O > (a0
() oo 9 Jgzal ol

d. cannon g%.i0
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7. Read the following lines from “All the World’s a Stage”, and then answer

the questions that follow: o
rJewVl 9 adiwVl e el o "o A Sgaw pllel Lo 8awad o adlll w13l

And so he plays his part. 10,95 ey 98 [3Sag
...... Into the lean and slippered pantaloon, ) )
(Uil p3les V oSI) ainin/zerl Joiig sz Vlgrw Sy 98 0V g
With spectacles on nose and pouch on side; )
(05985 ad bhaz)) S A=) ail> (sleg wl)lbs asil gls
His youthful hose, well saved, a world too wide )
gwly ol 389 coluidl pbl o dughll @)lgz Jraiz Ji; M
For his shrunk shank, and his big manly voice,

pall \_s\J9>)J| WBgog alazdl a8l (sle

Turning again toward childish treble, pipes Hloso wlS osls> esb weo (| Jo=iy
And whistles in his sound. Aigo 9 wlhdlo gl
Last scene of all, (Ol Yl 8L> s8) wsolpall spiinall Lol
That ends this strange eventful history, SlasVYU Jsldl oyl g, s aulgs oidg

Is second childishness and mere oblivion, Ll Vlowddl o Al> B9 4l dgab D
Sans teeth, sans eyes, sans taste, sans everything. )
s JSJ 280 ey (B9 ly uimally c0Liw VI 281 ULuu I puay

a. Find an example of onomatopoeia in the lines. Augall 38 =odl (e Vio 2>

b. What is the last stage of a human’s life mentioned in the speech? ) )

Sollazdl 138 8 8,950 UVl 8L> 88 a>,0 45 s b |

c¢. In the lines “he plays his part.”, “last scene of all”, what does Shakespeare compare a
life of a person to?

S uazaidl 8l puSown Uyl 3ley "silpdl apaiell" ("o,9> wels 98" WVl (s

d. What changes does old age bring to a person? Write down changes.

Ol 0is LS| S ezl (e audl pasdl lphaxs sl wlusdl o b
7 o oid aax>deoidl LLIVI
a. whistle

b. old age (second babyhood/childhood)
C. an actor in the theatre. .g woll sde Jiow

d. His memory becomes very weak. He loses teeth, eye-sight and taste. He is without
everything.
sadly bVl sty 5 ax Abieo W)S1S aual s JS Lyl cna @l>pell 010 8

sosad JS Vg 98 .99 llg

8. Read the following quotation from “"The old man and the sea”, then answer the
questions that follow: ‘

rosdi ol aliwVl e el o5 Mmdly duadl™ @nd o Il Gwlas VIl 1,8l
“Manolin has been Santiago’s fishing partner for years. Santiago had taught him all
about fishing, and has done so since he was a boy of five years old. Now, the young
man'’s parents want him to fish with a more productive partner.”
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a. Why do Manolin’s parents want him to leave Santiago and fish with another
fisherman?

551 sluo 86 dwar wdid gelislw sl 3y Ol o Huleile 1lg 2,0 150
b. Does Manolin agree to leave Santiago? Why? CI5led udoilo (g8lgy U

8 wioi Ax>deniJl LLIYI
a. Because Santiago was unlucky and he couldn’t catch any fish for the last eighty-four
days.
b. No, he doesn't leave him because Santiago had been teaching him all about fishing
since he was a boy of five years old. He loves Santiago and loyal to him.

9. Read the following quotation from “The old man and the sea”, then answer
the questions that follow: ]

i Wl iVl e el pi ("l Funid" @ad o AWl Gwluad VI 1,81
Eventually, he feels a bite on one of his hooks, and he works out that it must be a big
fish, perhaps a marlin. The fish is strong, though, and does not come up to the surface.
Instead, the fish swims away, dragging the old man and his boat along.

a. The story of The Old Man and the Sea tries to teach us about the relationship
between humans and nature. Find the sentence in the quotation to support this.
pcl pwlidVl (58 do> 2> asublly il Gw BVl e bodsei Ul Joli = Jlg Euid] aad
LMl s
b. How do you think the old man could guess it must be a big fish?
€6 ,usS @Slouw il oz Ul jexell g lniwl 2siei @S -

9 o Ax>deoil LLISYI
a. the fish swims away, dragging the old man and his boat along.
b. The old man is a very experienced fisherman. o> s sluo je=2

10. Read the following quotation from “The old man and the sea”, then
answer the questions that follow: )
Audi Wl aiaw V1 e worl i "xdly Fuaidl" @ld o AW Gwlud VI 9l
As night falls, he wraps the fishing line around himself, and goes to sleep, leaving his
left hand on the rope to wake him if the marlin surfaces. Soon, the old man is asleep,
dreaming of the lions he used to see when he was a boy in Africa.

a. Find a word in the quotation that means the same as “comes to the top of the
ocean”. Szl adow (sl b s o s susei gwladVl 9 aodS o>
b. Why do you think the old man dreams a lot of the lions he used to see when he was
a boy in Africa? )
Sl 0] 28 Mab OlS loaie waslay ol sbicl sl 30wVU LS el jexell Ol ssies 15k

10 wirodd uxrdgoull LIV

a. surfaces
b. Perhaps he is remembering his youth and wishing that he was young again so that he
had the strength to deal easily with the problems at sea. Lions also signify strength.
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11. Read the following quotation from “"The old man and the sea”, then
answer the questions that follow: )

Al sl alawdl e el pi M"Hedlg Guid]" aad o adlll gwlas VI |8l
The next morning, Manolin finds Santiago in his hut and cries over the old man’s
injuries. Manolin reassures Santiago that the great fish didn't beat him and that they will
fish together again. He tells him that the old man still has much to teach him.

a. What happened to the great fish? What caused the old man injuries?
Coxall aic 29,2l coow Sl b Sanudaell aSouwd) Juo> Sl b
b. What does this quotation tell you about the character of the boy Manolin?
¢ odoile gl apazxi e pwladVl is &z 15l

11 (00 du>dg0ill WUL>VI
a. Sharks attacked the old man’s great fish and ate it. The injuries were caused by
sharks while he was trying to defend his fish from them.
S Loiw Givyd)l Jloowl Lww gzl LpsdSly sexedl =)l aSocw Giusd)l Jlocw! coxla
Ppis GSoow o€ 891 Ul Jgls
b. Manolin seems to be a caring person, kind, thoughtful and loyal to Santiago. ]
9cluilw joxell palxog (puo)y cadaly (VU pips ez Guleile Ul 9oy

Guided Writing: ag>90Jl ayLsJI

teol LS Jall g 48, )k

(There are some.... oam lia aa ) 3 by il il 1) 1

/advantages <liwa fways (3b) Jie Jsaall ol sie Al 8 o sSisale AalS yia) o5 2
[reasons il /qualities <l 3 /benefits 225 /disadvantages s s
(&).../purposes ilaal

sl o) gie i) S

(such as Jis) sl &,

(taking shorter showers) ing + Jai Lails Wiayl s Jsaall 8 A6V 4 slaal) aa o,
washing your fruits and vegetables ) 4Gl dx glaall aa o5 and Ll A Jeninl
.(ina pan

turning off the )43l ialaall xuas In addition to b ) Jasinl g 3dai pa o5 .6

.(water tap after you wash your hands
(as well as Lyl 5) Lo )l Jasinsd Jsaal) 8 dagl ) A slas 2a 5 0)) L7

- There are some ways/siadvantages/ sidisadvantages/si benefits + Jssall olsic + &
such as +

ing = Wil I 5Y) da sheall

ahw

ing = Ll 4l 4 sladll

and . In addition to +

ing = Ly A e ed) | 59 well as ing = Wl ax g o) dagl 1) de slaal)
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4¢3 54l LUGUIDED WRITING: JUio
1. Read the information in he table below about the ways to reduce water usage,

and write two sentences about these ways. Use the appropriate linking words
such as: and, too, also, etc.

Ways to reduce water usage
- take shorter showers.
- wash your fruits and vegetables in a pan.
- turn off the water tap after you wash your hands.
tob LS Ao B A A8l Jlaiady Jad)

There are some ways to reduce water usage such as taking shorter showers and
washing your fruits and vegetables in a pan. In addition to turning off the water tap
after you wash your hands.
oo Aalizo glosl Jlpd ap>goll LS Jlgow J> 08 8019 @by b sloscl weall o 1dda>Mo
Joazdl (9 wb)lae Jlad 0l 15] bx>Vg wlgiwdl Clel (59 bauso asyylall 0is Sy u)lodl
(but, while ,sJg) «(On the other hand s,3l asU (o) Jio Syl lulg) Jlosiowl dde
eVl (58 Wlisymiwl sl bulg U asloYL

: NI Jlgadl J> Jol> LVIg

Question Number Six

A. Guided Writing ag>9.0Jl USJI
Read the information in the table below, and then in your ANSWER BOOKLET,
write two sentences about advantages and disadvantages of the Internet of

Things which is expected to be in use in a few years’ of time. Use the

appropriate linking words such as: and, too, also......... etc. )
0l wgaeg Ll Jo> puido> Sl dula] 585 (89 08 Joazl (9 (sl wlogleadl 1,31
A8 Olgiw a2 dlosiwl g9gioll (o Silg LoVl

Advantages O lauw> Disadvantages Sgluuwo
- make life easier and more comfortable. - control our lives.
- save our time. - threaten our privacy.

S\ oS a>dgoidl Al VI

Guided Writing
There are some advantages of the Internet of Things such as it will make life easier and
more comfortable as well as it will save our time. On the other hand, it has some
disadvantages for example it will control our lives and it will threaten our privacy-
criminals might get to access our passwords and security settings.
oo Lids 950w Layly a1, STy Jpwl 8Ll Jsmew @l Jio sloiVl i,V Ulsoll yasy =g
Vgl Jay 18 -liogas sapwy Wils (e Hhwsw ail Wio wguell pasy d )3l &b

lozdl wlacly udl GMS (oJ]
B. Free writing: o =l aulsli )
Write about 80 words in ONE of the following topics: ucgog90ll 3>l 9 aodsS 80 Sl
a. Our modern world can be described as a technological world. What are the effects of
living in a technological world? Are these mostly negative or positive for us?
b. Write an argumentative essay on the following question: Does the Internet kills real
communication?




